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Broadrick Secondary School

Revision exercise 

4E/5N(A)

Sc(Chemistry)

Name : _________________________ (    )

Class : ________

REDOX

	
	Always choose from the left hand side



	1
	For each of the following reactions, explain which substance is oxidised and which substance is reduced. 

	
	

	
	

	a
	 Fe2O3  +  3 CO  (  2 Fe  + 3 CO2 

	
	

	
	_____________ is oxidised  because _____________________________________

	
	

	
	_____________ is reduced  because _____________________________________

	
	

	
	

	b
	2 NH3   +  3 Cl2    (   N2  +   6 HCl  

	
	

	
	_____________ is oxidised  because _____________________________________

	
	

	
	_____________ is reduced  because _____________________________________

	
	

	
	

	c
	4 HCl  +  MnO2  (  MnCl2  +  Cl2  +  2 H2O 

	
	

	
	_____________ is oxidised  because _____________________________________

	
	

	
	_____________ is reduced  because _____________________________________

	
	

	
	

	2
	Identify the substance which is oxidised and reduced in the following equations. 

	
	
	Oxidised
	Reduced

	
	
	
	

	a
	 CO2  +  C  (  2 CO
	
	

	
	
	
	

	b
	 Mg  +  CuO   (  MgO  + Cu 
	
	

	
	
	
	

	c
	 2 Al  +   Fe2O3   (   Al2O3  +  2 Fe
	
	

	
	
	
	

	d
	 PbO   +  CO   (   Pb    +   CO2 
	
	

	
	
	
	

	e
	 Mg  +  ZnO   (  MgO   +  Zn   
	
	

	
	
	
	

	f
	PbO    +   H2   (   Pb   +   H2O 
	
	

	
	
	
	

	g
	4NH3  +   3 O2   (  2 N2  +  6 H2O
	
	

	
	
	
	

	h
	3 CuO  +  2NH3  (  3 Cu   +  3 H2O  +   N2
	
	

	
	

	3
	

	
	  Fe3O4  +  4 CO  (   3 Fe  +  4 CO2

	
	

	
	For the reaction above,

	i
	What is the oxidising agent ? _______________

	
	

	ii
	What is the reducing agent ? _______________

	
	

	iii
	Which substance is oxidised ? ______________ 

	
	

	Iv 
	Which substance is reduced ? ______________


	4
	For each of the following reactions, explain which substance is oxidised and which substance is reduced. 

	
	

	
	

	a
	Zn  +  2H+    (  Zn2+   +  H2

	
	

	
	_____________ is oxidised  because _____________________________________

	
	

	
	_____________ is reduced  because _____________________________________

	
	

	
	

	b
	Mg  +  Pb2+   (   Mg2+   +  Pb

	
	

	
	_____________ is oxidised  because _____________________________________

	
	

	
	_____________ is reduced  because _____________________________________

	
	

	
	

	c
	Cl2   +   2 I-   (   I2    +  2 Cl-   

	
	

	
	_____________ is oxidised  because _____________________________________

	
	

	
	_____________ is reduced  because _____________________________________

	
	

	5
	Identify the substance which is oxidised and reduced in the following equations. 

	
	

	
	
	Oxidised
	Reduced

	
	
	
	

	a
	 Cu2+    +   Zn    (   Cu   +    Zn2+ 
	
	

	
	
	
	

	b
	 2 Al3+   +   3 Mg    (   3 Mg2+    +  2 Al
	 
	

	
	
	
	

	c
	 2 K      +   Br2     (   2 K+ Br -
	
	

	
	
	
	

	d
	 4 FeCl2   +   Cl2   (   2 FeCl3   
	
	

	
	
	
	

	e
	 2 Fe   +   3 Cl2    (   2 FeCl3 
	
	

	
	
	
	

	f
	  Mg  +  2 H+   (   Mg2+   +   H2  
	
	

	
	
	
	

	g
	  2 Fe2+   +    Cl2   (    2 Fe3+  +  2 Cl-   
	
	

	
	
	
	

	h
	  Fe2O3   +   2 Al    (    Al2O3   +  2 Fe
	
	

	
	

	6
	Which one of the following statements contains two correct definitions of reduction ? 

	
	

	A
	The removal of oxygen  ;  the removal of electrons

	B
	The removal of  hydrogen  ;  the removal of electrons  

	C
	The addition of oxygen  ;   the addition of electrons

	D
	The addition of hydrogen  ;  the addition of electrons
	(         )

	
	

	7
	When zinc is oxidised

	
	

	A
	two protons are lost 

	B
	two electrons are lost 

	C
	the electronic configuration becomes 2 . 8.  2

	D
	hydrogen was added
	(         )
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